Answer Key

Course Name : DHS Recruitment Exam 27th Oct 2013
Exam Name : DHS - Blood Bank Technician Exam
Total Questions

(Including Sub 100

Question):

Type - Multiple Choice Single Correct

Q1. GIKM : OQSU : : ? : YACE

Question ID : 49429

Opt1l. RTUW

Opt2. SQVW

Opt3. VTRW

Opt4. QSUW

Correct Options - 4 |
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Question ID : 49430

Opt1. Fedre

Opt2. JTdhr ATEr

Opt3. FE&

Opt4. Tshehe

Correct Options - 4 |
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Question ID : 49431

Optl. ¢ 3TfOT ¥

Opt2. 2 AT ¥

Opt3. ¢ 37T 3

Opt4. 2 37T 3

Correct Options - 2

Q4. Grelterdsh 39T Aee e

Question ID : 49432

Optl. Envelope

Opt2. Stationary

Opt3. Stamp

Opt4. Pen

Correct Options - 2 |

Q5. TIET faear IR AT FIVTAT TFH 2Asg Fa¥ diel AT A Hee HTE? HIVIH, IVTHIT, AV, FTATTSED

Question ID : 49433

Optl. AUl

Opt2. TATSSETS

Opt3. HIUTH

Opt4. I0THRIT

Correct Options - 1

Q6. HgHSY 3fta@l. BDAC : FHEG : : NPMO : ?

Question ID : 49434

Optl. PORS

Opt2. HLTM

Opt3. 1JKL

Opt4. RTQS

Correct Options - 4 |

Q7. ‘3% ABT USTHFRIAI ATl Aelel HTTOT qTaT FIUATEIT 3T HTOT Fell A dARI.” & ener Fgorsr Ererddr 17 3me?

Question ID : 49435




Optl. fAdeToncas sy

Opt2. 3afFds Ad

Opt3. TFR

Opt4. a&Egfeueh

Correct Options - 1

Q8. T feauTd Yahg el rTdara?

Question ID : 49436

Optl. 86400

Opt2. 68400

Opt3. 48500

Opt4. 85400

Correct Options - 1 |

Q. T Tl YRTAFS v FFATd Fell. A STAIFS TR FIET 3aX TTedl, YogT STAIFHS TR FIGY 3} drerell ATTOT AT
FoTdes dageT ITe], ATITAT aX dl ATaT HIOTAT Qs IATeraT 3me?

Question ID : 49437

Optl. 9@

Opt2. giRas

Opt3. &faror

Opt4. 3cR

Correct Options - 3 |

Q10. THT Hichfa® HW™T DATE = 20 HTOr FADE = 30 aX &I Wihfa® I™d COAT = ?

Question ID : 49438

Optl. 50

Opt2. 60

Opt3. 55

Opt4. 62

Correct Options - 2

Q11.sX¥ 1234 = RICET 576 = MAT, @¥ 63741 = ?

Question ID : 49439

Optl. TCAER

Opt2. CTEAR

Opt3. CTAER

Opt4. TCARE

Correct Options - 1 |
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Question ID : 49440

Optl. IedX

Opt2. IdarR

Opt3. THAR

Opt4. EUaR

Correct Options - 1 |

Q13. 3w AIATAIET FROMA STUTRT TG T HITAT?

Question ID : 49441

Optl. 3T

Opt2. ATICISTeT

Opt3. 3R

Opt4. HEA-3TI-3TFHSS

Correct Options - 4 |

Q14. YA IAEATHTS YA AU “IHheledy’ § TSHIOT HUTAT ITSTTd AT ?

Question ID : 49442

Optl. TTEATA

Opt2. IERTd




Opt3. 3Rar

Opt4. 3TaTH

Correct Options - 2 |

Q15. ot uHa gerd 7w, I MiAgRgst ardt FATEN FS 38?2

Question ID : 49443

Optl. 3FTE

Opt2. 3RATETE

Opt3. dics

Opt4. af3ee

Correct Options - 3

Q16. ‘M TBae’ GrelleTdehl HIVTAT YS2ATT 3?2

Question ID : 49444

Opt1. gfeyoT 3TARHT

Opt2. #LT FTfrar

Opt3. INEET

Opt4. 3caR ARSI

Correct Options - 2 |

Q17. ‘Hed dlex 33 Uiax RAd T’ AFRISTA 1S HR?

Question ID : 49445

Optl. {TS

Opt2. ARTR

Opt3. ATRIH

Opt4. qor

Correct Options - 4 |

Q18. foreer yRwe=ar afacaitdr Fordt affdt gaid Agccar 3rma?

Question ID : 49446

Optl. e AT

Opt2. 3R AT

Opt3. fRrafor FfAdT

Opt4. T FfAdr

Correct Options - 4 |

Q19. ATM" T ¥AT 3gF RFaR g FIomT 93 stz

Question ID : 49447

Optl. 37C1#Aes esH AR

Opt2. 3cAes e AR

Opt3. 3ieIHRH ol FAl

Opt4. 3T s AR

Correct Options - 2 |

Q20. et YRw=aT AeracaraTd Auifa fraTeT aaeaier ... af qut & ame.

Question ID : 49448

Optl. 20

Opt2. 21

Opt3. 18

Opt4. 25

Correct Options - 2 |

Q21. A WYF e Aafvamar FRFR Fonmw 3me?

Question ID : 49449

Optl. GIgHTT

Opt2. 3UTSCYAT

Opt3. Isgudr

Opt4. JrEsaT FHTIA

Correct Options - 3




Q22. ‘Yegeletiy T AW FIT?

Question ID : 49450

Optl. HAT v

Opt2. STSATEAT STHP

Opt3. I TS

Opt4. TIsuear sEAaRY

Correct Options - 2

Q23. ‘fraTs e Frorean feaeft areRT Far STaY?

Question ID : 49451

Optl. 15 &

Opt2. 5 TR

Opt3. 27 S

Opt4. 9 3IEe

Correct Options - 2 |

Q24. WA FIVCAT TATATT F7HG Folell sqaFd! foraT HRAT ARTREearar d gIUTR A2

Question ID : 49452

Optl. TEEAT FFAl 3T AT ARTREcd FAFRUIATS HRA ATTREFcardT 1T H0ATT STdel T ATHIST JHT 35T el off
SETIE

Opt2. #s¢ AR ! HBge, IRCTTER F&aT wATATHATT G SIUTRT STkl

Opt3. 3 PUTCITET ST AR hcd TAIPROTRYT TR STeFdy.

Opt4. AN, AR TARY TR T8 FOMY SaF.

Correct Options - 2 |
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Question ID : 49453

Optl. drTeETs R

Opt2. IATETS T3

Opt3. 9f3d TAES

Opt4. FIfIFETS Feor

Correct Options - 1

Q26. Gedh AW SORT =TT FHorar?

Question ID : 49454

Optl. AY

Opt2. STelg

Opt3. TR

Opt4. Sel

Correct Options - 4

Q27. ¥, WHIH-TRHI, ATSI-HATST, dRIE-dRET d¥, Fle-

Question ID : 49455

Optl. @rer

Opt2. JTdhr ATEr

Opt3. @rer

Opt4. Trear

Correct Options - 1

Q28. AT YT fAgsT : HrRsHAT

Question ID : 49456

Optl. clarll 848

Opt2. [t anser

Opt3. ICAENSEr

Opt4. deeds HTYOT

Correct Options - 2




Q29. YT TRTEY Y3 AR d. IT AT “‘av AT QrserE ST H5aET.

Question ID : 49457

Optl. TraTfaAVoT ey

Opt2. e

Opt3. AGATH

Opt4. ersgart 3regy

Correct Options - 4 |

Q30. ‘33 & FHUTAET § G, AT aTFATA T FRATIETawT HI10TdT e g+ glar?

Question ID : 49458

Optl. faeey

Opt2. 3T

Opt3. Ty

Opt4. Toharey

Correct Options - 1

Q31. ‘TH AW IT AHYIRMET I 37 Agsr.

Question ID : 49459

Optl. 37 FAHOT.

Opt2. ATAAT FAHOT.

Opt3. TGUT 37HOT.

Opt4. ¢d =IHY.

Correct Options - 1

Q32. Wrdle eregidier ‘SIS’ IAT 3TYTHET Aeg HBET.

Question ID : 49460

Optl. N8R

Opt2. IRER

Opt3. 398K

Opt4. 3ER

Correct Options - 4

Q33. ‘A q W’ AT FgolaT FHYS 3 Horar?

Question ID : 49461

Optl. @ § JoAd 3.

Opt2. =31 S&T TRTeAT T IUGeFd HAN.

Opt3. ST TEAT ARl HTT 1A

Opt4. = A FAGHT T AleIdled 378,

Correct Options - 2 |
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Question ID : 49462

Optl. 39#T

Opt2. 3TH

Opt3. 3ceT

Opt4. ¥9h

Correct Options - 1 |

Q35. GUTHTS! FTar A FTBT WF RATAT. AT qFATCANeT Fal i,

Question ID : 49463

Optl. QTR

Opt2. [dda

Opt3. gem

Opt4. FHIaT

Correct Options - 2
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Question ID : 49464

Optl. FHURT

Opt2. 3cgNHTT

Opt3. SgaE

Opt4. gdcd

Correct Options - 1

Q37. gdrar RudiaT FR&Y Forar?

Question ID : 49465

Optl. I0T

Opt2. FYGHT

Opt3. &H

Opt4. Fdr

Correct Options - 1 |

Q38. choose the correct 'Indirect Speech' of the following sentence: The girl said to her friends,
""Please lend me this book."

Question ID : 49466

Optl. The girl asked her friend to lend that book.

Opt2. The girl requested her friend to lend her that book.

Opt3. the girl ordered her friend to give her tha book.

Opt4. The girl requested her friend to lend this book to her.

Correct Options - 2

Q39. Choose correct 'Synonym' for the given word: "direction’

Question ID : 49467

Optl. instruction

Opt2. information

Opt3. notice

Opt4. action

Correct Options - 1 |

0Q40. She said, " Don't tease my dog." (Convert into indirect speech.)

Question ID : 49468

Optl. She warned them not to tease her dog.

Opt2. She said that don't tease her dog.

Opt3. She inquired if they were not teasing her dog.

Opt4. She said not to tease my dog.

Correct Options - 1 |

Q41. Choose the correct positive degree of the following sentence. India is one of the most beautiful
countries in the world.

Question ID : 49469

Optl. Very few countries of the world are more beautiful more as India.

Opt2. India is one of the much beautiful countries in the world.

Opt3. No other country is as beautiful as India.

Opt4. Very few countries in the world are so beautiful as India.

Correct Options - 4 |

Q42. Choose the correct answer to name the clause bracket in the sentence: 1 cursed him (as he
missed the catch.)

Question ID : 49470

Optl. Co-ordinate clause

Opt2. Adverb clause of place

Opt3. Adverb clause of reason

Opt4. Adverb clause of manner

Correct Options - 3 |

Q43. You understood the question. (Put a correct 'question-tag.")

Question ID : 49471

Optl. isn't you.

Opt2. didn't you?

Opt3. wasn't you?

Opt4. do you?

Correct Options - 2 |

Q44. Being tired, she feel asleep. (Change into compound sentence.)

Question ID : 49472




Optl. She fell asleep as being tired.

Opt2. She tired so that fell asleep.

Opt3. As being tired she fell asleep.

Opt4. She was tired and fell asleep.

Correct Options - 4 |

Q45. Don't allow anyone to enter this room. (Change the voice.)

Question ID : 49473

Optl. Do not allow anyone to enter this room.

Opt2. Not allow anyone to enter this room.

Opt3. No one was allowed to enter this room.

Opt4. No one is to be allowed to enter this room.

Correct Options - 4

Q46. Pick out the clause that completes the sentence correctly : Sonali would like the girls ...in the
field.

Question ID : 49474

Optl. played

Opt2. to played

Opt3. playing

Opt4. had played

Correct Options - 3

Q47. If he had tried, he...a job.

Question ID : 49475

Optl. will have got

Opt2. will get

Opt3. would have got

Opt4. gets

Correct Options - 3 |

0Q48. Choose the sentence of correct exclamation of indirect speech from the following.

Question ID : 49476

Optl. He cried in alarm that she was fainting.

Opt2. He is cried in alarm that she is fainting.

Opt3. He says in alarm that she fainted.

Opt4. 'God, she is fainting," she said.

Correct Options - 1 |

Q49. He is too good man to harm anybody. (Remove 'too...to")

Question ID : 49477

Optl. He is not so good man that he cannot harm anybody.

Opt2. He is so good man to harm anybody.

Opt3. He is good man that he cannot harm anybody.

Opt4. He is so good man that he cannot harm anybody.

Correct Options - 4

Q50. Choose the correct answer to name the clause bracket in the given sentence. : He knows (why
she was late.)

Question ID : 49478

Optl. Co-ordinate clause

Opt2. Adverb clause of reason.

Opt3. Adverb clause of purpose

Opt4. Noun clause

Correct Options - 2 |

Q51. If a reaction is reported with a platelet component made from a single whole blood collection.
What should be done to the other components made from the same whole blood collection

Question ID : 49779

Optl. Issue immediately to prevent any further storage lesion

Opt2. Discarded

Opt3. Track all components for quarantine

Opt4. Nothing should be done

Correct Options - 3 |

Q52. Platelet storage bags are different from plasma or red cell storage bags because

Question ID : 49780

Optl. They prevent aggregation of platelets

Opt2. They are colourless and odourless

Opt3. They allow better exchange of gasses across the plastic

Opt4. They prevent bacterial contamination of platelet products

Correct Options - 3 |




Q53. The most common adverse effect of plateletapheresis collection is

Question ID : 49781

Optl. Hemolysis

Opt2. Hepatitis

Opt3. Allergic reaction

Opt4. Citrate effect

Correct Options - 4 |

Q54. EDTA exerts its anticoagulation effects by:

Question ID : 49782

Optl. Chelation of calcium ions

Opt2. Forms loose complexes with iron

Opt3. Inhibiting thrombin

Opt4. Dilution of blood specimen

Correct Options - 1 |

0Q55. Enzyme techniques, such as papain, cannot be used alone because:

Question ID : 49783

Optl. They cause rouleaux

Opt2. They enhance the reactivity of Rh, Kidd, Lewis antibodies

Opt3. Are very time sensitive

Opt4. They do not detect anti-M, anti-N, anti-S, anti-Fya or anti-Fyb

Correct Options - 4

Q56. Colour coding for disposing ‘BLOOD STAINED COTTON SWABS’ is

Question ID : 49784

Optl. Black

Opt2. Blue

Opt3. Red

Opt4. Yellow

Correct Options - 4 |

Q57. Fresh Frozen Plasma should not be given for

Question ID : 49785

Optl. Burns

Opt2. Nutrition

Opt3. Shock

Opt4. Plasmapheresis

Correct Options - 2 |

Q58. The Hemocue Haemoglobinmeter is able to compensate for turbidity in the sample because:

Question ID : 49786

Optl. Haemolyses the erythrocytes

Opt2. Uses capillary blood

Opt3. Has a turbidity filter in the cuvette

Opt4. Measures the absorbance of the sample at two wavelengths

Correct Options - 4 |

Q59. With respect to irradiated apheresis platelets, which of the following statements is FALSE?

Question ID : 49787

Optl. Shelf life of irradiated platelet concentrates is unchanged from the standard five day expiry

Opt2. Platelets do not appear to be adversely affected by irradiation

Opt3. Irradiated platelets are stored at 20-24 degrees C, with constant agitation

Opt4. Irradiated platelets do not need to be be given on a ABO Rh (D) basis

Correct Options - 4

Q60. Which of the following is true for hepatitis B vaccination?

Question ID : 49788

Optl. The vaccine is given by intravenous route.

Opt2. The vaccine can transmit HIV.

Opt3. The vaccine is made from a recombinant antigen.

Opt4. The vaccine is given in a single shot dose.

Correct Options - 3 |

Q61. Cytomegalovirus positive blood is dangerous for which of the following?

Question ID : 49789

Optl. Pregnant women who are seronegative

Opt2. All of the above

Opt3. Neonates

Opt4. Immunosuppressed individuals

Correct Options - 2




Q62. Gloves must be worn when

Question ID : 49790

Optl. Handling blood samples of donors screened negative for transfusion transmissible infections

Opt2. Handling patient specimen

Opt3. All of the above

Opt4. Scratches or cuts are present on a health care workers hands

Correct Options - 3 |

Q63. Which of the following steps should be taken in the event of a donor reaction

Question ID : 49791

Optl. Apply cold compress

Opt2. Ensure adequate airway

Opt3. Elevate feet

Opt4. All of the above

Correct Options - 4 |

Q64. Irradiated blood components are indicated for the following patients

Question ID : 49792

Optl. Neonate requiring an exchange transfusion

Opt2. a and c

Opt3. A 53 year old man receiving an autologous transfusion

Opt4. A patient receiving a directed donor unit from a parent

Correct Options - 2

Q65. Irradiated cellular components are indicated for which of the following patients

Question ID : 49793

Optl. Intrauterine transfusion

Opt2. Patient receiving a unit from a family member

Opt3. Leukemia patient

Opt4. All of the above

Correct Options - 4 |

Q66. Which of the following describes the expression of most blood group genes?

Question ID : 49794

Optl. Corecessive

Opt2. Dominant

Opt3. Codominant

Opt4. Recessive

Correct Options - 3 |

Q67. Complement activation occurs in the disulphide bond regions of

Question ID : 49795

Optl. The hinge region

Opt2. The Fab fragment

Opt3. The variable regions of the heavy chains

Opt4. The constant regions of the light chains

Correct Options - 3 |

Q68. Direct antiglobulin testing is used to investigate which of the following situations?

Question ID : 49796

Optl. Antigen phenotyping

Opt2. Antibody identification

Opt3. Hemolytic disease of newborn

Opt4. Unexpected antibody detection

Correct Options - 3 |

0Q69. A negative reaction in the SPRCA method is represented by

Question ID : 49797

Optl. Red cells trapped in middle of microtube column

Opt2. Red cells at tip of microtube column

Opt3. Red cells attached to sides of the microplate well

Opt4. Red cells in pellet at center of the microplate well

Correct Options - 4 |

Q70. If a patient has a positive direct antiglobulin test, indicating that his/her cells are coated with
immunoglobulin, can you perform a Du test on the cells?

Question ID : 49798

Optl. No, the cells are Rh-null

Opt2. No, the cells are already coated with antibody

Opt3. Yes, Rh reagents are enhanced in protein media

Opt4. Yes, the immunoglobulin will not interfere with the test




Correct Options - 2 |

Q71. Administration of whole blood to a patient with cardiac insufficiency could result in which of the
following reactions?

Question ID : 49799

Optl. Anaphylactic

Opt2. Allergic

Opt3. Extravascular hemolysis

Opt4. Circulatory overload

Correct Options - 4 |

Q72. Which of the following is used to treat hemphillia B?

Question ID : 49800

Optl. Factor IX concentrate

Opt2. Cryoprecipitate

Opt3. Fresh frozen plasma

Opt4. Albumin

Correct Options - 1 |

Q73. Which of the following plays an important part in prevention of transfusion transmitted diseases?

Question ID : 49801

Optl. Testing

Opt2. Donor history

Opt3. All of the above

Opt4. Self exclusion

Correct Options - 3 |

Q74. If a unit of plateletpheresis component contains visible red cells, a hematocrit should be
determined as a part of pre transfusion testing. A crossmatch should be performed if the if the unit
contains more than ......... ml of red cells.

Question ID : 49802

Optl. 3

Opt2. 2

Opt3. 5

Opt4. 4

Correct Options - 2 |

Q75. Class li MHC proteins are:

Question ID : 49803

Optl. Used to mark a cell for killing by CD8 cytotoxic T cells

Opt2. Encoded by HLA-A, HLA-B and HLA-C loci

Opt3. Recognized by the CD4 T cells

Opt4. Used to participate in CDC

Correct Options - 3 |

Q76. In general, which of the following principles apply to outdate of a component that has been
exposed to a non sterile environment (open system)?

Question ID : 49804

Optl. Neither 1 or 2

Opt2. For a product stored at 20° to 24° C, the outdate is changed to 24 hours

Opt3. Both 1 and 2

Opt4. For a product stored at 1° to 6° C, the outdate is changed to 4 hours

Correct Options - 1

Q77. Which of the following would NOT be considered a part of routine pretransfusion testing?

Question ID : 49805

Optl. Screening the recipient’s serum for unexpected antibodies

Opt2. ABO and Rh of the donor

Opt3. A minor crossmatch

Opt4. Review of the patient’s past records

Correct Options - 3 |

Q78. If hemolysis were noted in grading a reaction, it could be attributed to which of the following
serologic explanations?

Question ID : 49806

Optl. A complement-activating antibody

Opt2. An IgG antibody

Opt3. 1 and 2

Opt4. An IgM antibody

Correct Options - 1 |

Q79. The component best suited for the treatment of a patient with chronic anemia complaining of
fatigue and shortness of breath is:




Question ID : 49807

Optl. Red blood cells Leukocytes reduced

Opt2. Whole blood

Opt3. Red blood cells washed

Opt4. Red blood cells

Correct Options - 4 |

Q80. The most common antibody specificity associated with HDN is:

Question ID : 49808

Optl. ABO

Opt2. Anti-C

Opt3. Anti-Kell (K1)

Opt4. Anti-D

Correct Options - 1 |

Q81. A history of previous transfusion is important in the investigation of autoimmune hemolysis
because it helps:

Question ID : 49809

Optl. Predict the category of autoimmune hemolysis

Opt2. Differentiate between primary and secondary disease

Opt3. Determine the urgency of the serologic evaluation

Opt4. Determine the type of adsorption studies to be run

Correct Options - 4

Q82. A laboratory task that is considered a category Il1 risk level (no risk of exposure) is:

Question ID : 49810

Optl. Centrifugation

Opt2. Compatibility testing

Opt3. Clerical work

Opt4. Removing stoppers from tubes

Correct Options - 3 |

0Q83. As essential component of quality monitoring is:

Question ID : 49811

Optl. Documentation

Opt2. Monitoring a list of specific patient care activities

Opt3. Exceeding regulatory requirements

Opt4. Defining physician services

Correct Options - 1 |

Q84. All are true regarding necessity of balancing of blood bags before centrifugation EXCEPT

Question ID : 49812

Optl. Make good quality components

Opt2. For preventing bacterial contamination

Opt3. Avoid damage to centrifuge

Opt4. Avoid rupture of blood bags

Correct Options - 2 |

Q85. Gloves should be worn for all of the following except

Question ID : 49813

Optl. Uncapping specimen

Opt2. Handling papers

Opt3. Pipetting

Opt4. Cleaning biological spills

Correct Options - 2 |

0Q86. Extra medullary haemopoiesis may be correctly described as:

Question ID : 49814

Optl. Blood formation by the liver and spleen when bone marrow is unable to meet demand

Opt2. Blood formation in the proximal ends of the femur and humerus

Opt3. Blood formation in long bones

Opt4. Blood formation in the flat bones.

Correct Options - 1 |

Q87. Polyspecific AHG contains anti-1gG and which of the following?

Question ID : 49815

Optl. Anti-C4d

Opt2. Anti-IgM

Opt3. Anti-C3d

Opt4. Anti-1gA

Correct Options - 3




Q88. Colour coding for disposing SHARPS is

Question ID : 49816

Optl. Yellow

Opt2. Black

Opt3. Blue puncture proof container

Opt4. Red

Correct Options - 3 |

Q89. The minimum interval allowed between plateletapheresis component collection procedure from
same donor is

Question ID : 49817

Optl. 24 hours

Opt2. 1 week

Opt3. 48 hours

Opt4. 72 hours

Correct Options - 3 |

Q90. Which of the following statements are TRUE?

Question ID : 49818

Optl. Serum contains fibrinogen

Opt2. The essential difference between serum and plasma is that serum is plasma minus fibrinogen and clotting
factors used to clot the specimen

Opt3. Plasma may be obtained by using centrifugation

Opt4. Serum is the same as plasma particularly in terms of clotting factors

Correct Options - 2

0Q91. Testing for weakened expression of the D antigen is done by:

Question ID : 49819

Optl. Enzyme techniques, in conjunction with an IgM anti-D

Opt2. Don't need to do it in a blood bank

Opt3. Performance of an IAT using an IgG anti-D

Opt4. Increasing the time for the incubation of the saline phase

Correct Options - 3 |

Q92. Which of the following is an incomplete virus and is present only when hepatitis B infection is
present?

Question ID : 49820

Optl. Hepatitis B

Opt2. Hepatitis A

Opt3. Hepatitis D

Opt4. Hepatitis C

Correct Options - 3

Q93. HIV is acquired it through all except

Question ID : 49821

Optl. Sexual contact

Opt2. Working in laboratory

Opt3. Perinatally

Opt4. Blood transfusion

Correct Options - 2 |

Q94. The single most important component of quality assurance in a facility is the

Question ID : 49822

Optl. Medical director

Opt2. Supervisor

Opt3. Quality assurance department

Opt4. Individual

Correct Options - 4

Q95. Cryoprecipitated AHF contains

Question ID : 49823

Optl. Fibronectin

Opt2. Factor VIII

Opt3. All of the above

Opt4. Von willebrand factor

Correct Options - 3 |

Q96. Alternate forms of a gene that can occur at a single chromosome locus are referred to as:

Question ID : 49824

Optl. Alleles

Opt2. Chromosomes

Opt3. Traits




Opt4. Phenotypes

Correct Options - 1 |

Q97. In the Gel test, positive reactions are represented by which of the following?

Question ID : 49825

Optl. Red cells attached to sides of the microlate well

Opt2. Button of red cells at tip of microtube

Opt3. Button of red cells in the center of the microplate well

Opt4. Red cells trapped in microtube column

Correct Options - 4 |

Q98. The D type of a patient is being performed. Agglutination is seen in the tube containing high —
protein anti-D and patient cells. Agglutination is also seen in the tube containing Rh control and
patient cells. You would

Question ID : 49826

Optl. Interpret the patients type as Rh (D) positive

Opt2. Transfuse the patient with D-negative blood

Opt3. Report the patients type as D negative

Opt4. Repeat the test using saline IgM anti-D

Correct Options - 4 |

0Q99. How the elution of antibodies from RBC is usually accomplished?

Question ID : 49827

Optl. Treating with mild, nontoxic reagents

Opt2. Liberating antigens from RBC

Opt3. Disrupting the chemical bonds between antigen-antibody complexes

Opt4. Increasing the antigen-antibody binding forces

Correct Options - 3

Q100. The final check for unit acceptability for transfusion is performed:

Question ID : 49828

Optl. Just before issuing the unit

Opt2. At the time a unit is selected for crossmatch

Opt3. Before the unit is labeled

Opt4. When the unit is labeled after pretransfusion testing.

Correct Options - 1




